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Round 75,803 to the nearest 

ten.

thousand.

Write 2,506,793 in expanded form.What is the value of 9 in the number 
shown? 3,962,301

How many times larger is 400 than 40?

Find the quotient.

234 ÷ 4

7,584 ÷ 3

Find the product.

3,946 x 3

92 x 25

Michael’s school played 1,608
baseball games last year. He 
attended 983 games. How many 
baseball games did he miss?

Round 3,736,529 to the nearest 

1,000.

100,000.

Write 55,839 in word form.What is the value of the underlined 
digit in the number below? 

731,039

Find the quotient.

5 ) 8,315                  7 ) 6,982

Find the product of

547  and 5.

81  and 18.

Find the sum or difference.

736,674 – 26,746

10,672 + 85,194

Round the numbers below to the 
nearest hundred.

6,062

32,957

Compare the two numbers using 
>, <, or =.

87,436   _____ 78,643

76,364   _____ 76,373

If the number below has 5 in the ten 
thousands place, then in what place 
is 2? 

652,037

Find the quotient.

87 ÷ 6

9,364 ÷ 8

What is 42,903 increased by 7,329?

What is 2,746 decreased by 1,837?

Round $285,640 to the nearest 

$100.

$10,000.

Write the number below in the 
standard form.

three million, five hundred eleven 
thousand, two hundred nine

How many times is the value of 4 in 
the millions place greater than the 
value of 4 in the thousands place in 
the number shown? 4,644,930

Find the quotient.

540 ÷ 7

8,376 ÷ 6

Find the product.

69 x 17

642 x 5

Find the sum or difference.
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Name:

Week 6  

Date:

3 7 , 8 2 7  
– 8 , 8 4 5

5 3 , 9 3 6
+ 6 7 , 0 3 6

5,000    +  300   + 80    + 2

4

Find the product using the model. 5,382 x 4.

= _________________


